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this not Edwin Sutherland slt
it is based on bobo doll experiment 
has 4 main postulates 
attention retention 
reproduction and motivation 
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ans is good and relevant 
main domains of question justified 
12/20 well done 
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this is enough for intro
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there are four reasons why punishment is given
as retribution or for prohibition or
for rehabilitation or for reformation  , failure or any of these components results in recidivism 


gyt o
W
-

SRS—

AN JL,_. (_CAL'waﬁm___,_ .“:MC‘}'\

Dih: I IN | 3
% 'mO\G.JV“m\

Day:.

T G

T «u:g:a e




~ — ——
W W W W W e - ey e -
W e R e e o we e W W e e e e e -

RoM geative '\wvt<m

Ve m‘eﬂwgbm

SonMl\ox. con. 0l vaféfj —
.pr_o‘\g ")pv{'{,\ Q' 4 W\ar«a-%

A\ otve nglewes ;Mg o VEAAGY Ak
t o o o/\%o

b A,

U\\AA\.\C;Q_

\f@; N\ O\OQ&YQA\\vS\:)}}/M \\w/dc)

YP_IQA&JV‘QV\ '




(AR e / /.',“
\\‘\:\Q V\d\ -
\(” : - .'}}.). S ——— -
~ zb an\i\,« X\ § N
Lo\ A
@ = \A Y\(._(,‘(*Q ’ 'A \ s B
s L s

6L
Al \O/\‘\ \A\L@ g

1\ C‘%& ic‘)o«'&\.Q Lpdenv@ntun,
"% \/é/gouﬂca/)

| g
I ADND A \K \‘L @Q}m < LDJ
. "(&*t‘o (&A U\{m {\C\QM AQ
" SOALL KM

ol 1
l)ax Ve 0\,@9;44,&

el

EW\%"" e *_.ASXA_.mAA

B o \wa AV

" § éy)zum\m i
o ISR

'.-'I'M'
| 2SS

(zw\ )
o *‘9

s&z—mal.ecd
&DW\M’ (o /




<L %u«d’ : —
Bl woo AR P A 1 V' @@4 ~L=A
B e MMMS e,
gﬁ YAV qO Nowskug S \r&ﬁM&Q R
\,mo\ @{SQ[}\'Y@)\\& > QEL ‘C Qh
W ow s Han w\g&(\w\ Lowe
\M\throg Sawem J@ ta»\,«vw“( Chap ll >
v 'T:r : TR oY M@b}«a _
YAl evnX ,L S aﬁ@v\dwv'/ Ye “:" LR
Sla Ui i W\Q@)C/\C& *\;»Jad.v\ o U
B\l cgcwu'v \\@,BCQ e an "‘M)OQ‘*CQ\Q
| (L PRV A Aok _ecd) (allig -
T, WA
ﬁ’w@& N p BGSLQ‘ O Do
4 e Ui 4 i
d/L@(AAQI(d LA noiuale Mbqwomk
m\%v\\c%@/g o wodiviénn ‘*\’8\_:2__
ool \L@M/b/@n v(ab—Q%OQ*
%mﬂ as m()m s OR,WQQ;@(\Q |
s(&,lQQ ;Q'f ’\d‘o YT




e ——

—

\QQM)\L—Q\ \Q_Q begyk wowf{ «,.QQ

A4S Q-G*\-C_Qz\% M_O%/%Oﬁy XY\\I\U

o C e itz o N

el WAV n\v-(jﬁ‘/j;pc \M,a/\)d“/

\

30%94@ gbg;\\'ﬁd\l{ ‘&A\(\A\fe& &oa

'ﬂ(’%iﬁm;le swlie X are M

(e Np woh w?enD

1
WA X Psapi\éﬁ c Aladory .

r ",

\ AN - iéj‘?“.i
DALl  £én WA L
Y £
.- —
& i ° g s




m Ad\mc% o) ﬁ“&s\a@%ﬁ
f\ wmw\m NIV
) \oaa V-
) sagzéﬁo\@&,{ M X9
\’\\g\{ \L\mg& J \(pj) KM\\IT:\"‘\

‘——Q& oY 4%1 Pcﬁlﬂ W\QQA\A nﬁ‘,qg Q&-ﬁ 2

Ov\o‘ -2 uwo\}«.Q ()YCMQ:‘&QA




PPN Y B ;@is)
TQ/\'\Q-'\O}AA-&,k \oA~

?:f*wr\ D xeg\\p\ce MM

A s Qﬂm e

Q&%d‘% {p}aﬂ){@ \

~ dear:



dear student ans is correct and relevant but there are no examples in any ans 
secondly you are giving unnecessary detail of the point 
be precis and conclude the ans on 8th side max
reduce the explanation give max 3 4 line exploitation 
rest is satisfactory 12/20




